- Gombine like terms.
Subtrast 6 from each side.
- Simplify
Divide @ﬁ@ﬁ & ﬁ@ i@y 4,

g?i‘ﬁﬁfi‘f‘y

Ehesl;: 83 + 6 + a = 86 |
| 8(81) + 6 + 24 2 80  Substitute 21 for &,
E8+¥6+281280 .
. 80 = 90 v

) Yeu need te build a res
yard foF yeur deg: One side of the pen will be
Bause: Twe sides of the pen have a el
width will be 25 ft: What is the greatles
&an be if yeu have 68 ft ef fengmg‘? |

Relate: 1ength| plus 25# alug equals ‘ameunt
of side ef;—: de ef fensing

 Pefine: Let [F] l = length ef a side ad;aseni te the heuse:

wite:: [F . o+ 8+
¥+ BEFx= @Q

S " ¢ + 25 = 88 Esmbine like terms.. -

2x + 86 — 25 = 68 — 25 Subirasi 25 frem eaeh sigia.

. Bx = 88 Sirmplify:

=8 pivide eaeh side by .

68




T

sy,

3x . x _
Solve o T 5= 17.
Finding common denominators
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(3)() + ‘5@(5> =10(17) Use the Dishributive Property.

18x + 2x = 170 Buitinly,
17x = 170 Combine like Tprms,
_ 170

Dhvide eanh sige by 17,

Sirnplily.

Solve 0.6a2 + 18.65 = 22.85,

100(0.6a + 18.65) = 10((22.85) The greatest number of
decimal places is two places,
WMultiply each side by 100,

1@@(0 6a) + 100(18. 65) = 100(22.85) Lise the Distributive Property,

60a + 1865 = 2285 Sty
GOa + 1865 — 1865 = 2285 — 1865 Subiract 1865 from each side,
60a = 420 Shmplity,
&0a 4§§:§° Divide each side by 60.
Sty
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